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3| # B |USX | JEfL| &2 & |EAh K 4 £ | TR ETEGE S %?g m &
M 100m | M85 | 1 19.97| +00 [LLA =4 86 | K =KEIE% RoIRE
M 100m | M55 | 1 1253| -10 |B& X 55 | KBk REH

M 100m M50 | 1 11.34| +0.0 |FRYE 5AR 50 | EE AE=#

M 100m M40 | 1 11.30| +1.6 |HEEE 42 | EE AE=#

M 100m | M30 | 1 11.08| +1.1 |AH 7 3 | EE REH

w 100m | W60 | 1 16.96| +03 |[HE HF 62 | EE KBIE%

w 100m | W45 | 1 1351| -15 |#fE Bx 49 | EE AE=#

w 100m | W25 | 1 13.25| -15 |[{&F #Exk 27 | KR REH

M 200m M55 | 1 25.97| +0.2 |IUE 1EF 57 | KBk AE#

M 200m M50 | 1 23.10| +0.2 |FK¥E AR 50 | EfE | BAF-KEH

w 200m | W85 | 1 55.82| +0.0 |#¥AFE F1F 86 | KR A=RIER

W 200m | W50 | 1 31.14| +00 \HH £&F 51 | &EE AE#

W 200m | W25 | 1 27.17| +0.0 & T #FX 27 | K AE#

M 400m | M50 | 1 55.03 IO B 50 | KB REH

w 400m | W50 | 1 1.29.66 g s 54 | EfE =RIE%

M 800m M65 1 2.29.73 WE # 66 | KR AEH

M 800m | M50 | 1 2.07.44 IO B 50 | KBk REH

M 800m M50 | 2 2.16.98 I\ & 54 | TR RKEH

M 800m | M-24 | 1 2.20.17 He # 24 | KR REBIER

w 800m | W50 | 1 2.31.31 A £&F 51 | EE N-3-15

M 1500m | M50 | 1 4.37.40 HE & 54 | &R AE#

W | 1500m | W45 | 1 5.46.88 B fF 49 | EE AE=#

M | 3000m | M70 | 1 | 12.03.66 Bi EX 70 | &EE REH

W | 3000m | W55 | 1 | 11.34.36 mwAR BF 55 | EfE AE=#

W | 3000m | W40 | 1 | 15.45.27 ENl = 40 | KR KEBIER

M | 5000m | M50 | 1 | 18.19.51 BH X2 53 | KBk REH

M | 5000m | M-24| 1 | 18.17.44 SI{E RAER | 20 | EE -

W | 5000m | W55 | 1 | 20.09.11 WK BF 55 | EE =R

W | 5000m | W45 | 1 | 20.11.28 B BEF | 48 | Kk A=RIER

M | ESB | M65 | 1 1.40 B HE 66 | EE AE#

W | EZSB | wes | 1 0.90 Bl BhF 86 | KBR | K=BIE%- KiR#T

M | FEMEBE | M85 | 1 270 -04 |LLO A 86 | KBk REH 2m, §iR
M | ZENEEE | M40 | 1 6.80| +1.3 [FT)Il K## 40 | KB RE# 2m, IR
M | ENEEE | M40 | 2 6.37| +0.0 [ZE@ = 42 | K RE# 2m, IR
w | FEIEBE | w40 | 1 452 -1.4 IME EIR 44 | RHED REH 2m, iR
M | Rkt | M85 | 1 7.81 BH K- 85 | K AE=# 3.0kg MR
M | Rt | M75 | 1 8.91 B EBE 75 | HER AEH 4.0kg R
M | FaiiE | M45 | 1 10.66 BHE Bt 48 | TER REH 7.260kg | R
W | FEALER | w40 | 1 9.15 WA £ M| BEE SRR 4.0kg MR
M | A% | Me0 | 1 33.47 B g 63 | EE AE=# 1.0kg MR
W FHEEE | w40 | T 27.30 WE E£3% M| EE =SRIER 1.0kg R
M | OYE | M80 | 1 17.27 = #5h 82 | K AE# 400g R
W | PYE | wes | 1 10.06 2T BEx 68 | KB £ 500g R
W | U | weo | 1 9.66 FX B¥ 63 | &fE KRR 500g R
W | PYE | W55 | 1 13.58 fEk =& 58 | &E =KRIE% 500g R




